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T AT 7 MR t=15cmPl T
(3.25 +0.125 ) X 2
6. SRR L t= 5 cm
T A7 7L MgEE t=10emPL T
(3.25 + 0.125 ) X 6.00
7. LiEEgaE T t= 17 cm
TR A M-30
3.25 X 6.00 - w/4
8. ThEkiE T t= 15 cm
A YA RC-40
3.256 X 6.00 - w/4
8. BlEEAE IR 1T t= 3 cm
AR E T 2 2 (13)
(3.25 +0.125) X 6.00
9. WE LR T
TATZ 7Lk
20.250 X  0.05
Moy 7 J— b
2. 493
10. {5y T
0.023 X 0.05 X 12.750

X 2.5072 +

+

MOHA KAy ) — M

2.512 X 2.50)}

6. 00

X 0.8272

X 0.8272

n/4 X 0.8272

12.

20.

18.

18.

19.

. 493

750

250

972

972

722

.013

. 493

. 015

2.5

m3

13

20

m2

19

m2

19

20

m2

m2

m3

2.5

m3

m3
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SEHLT.(B)ZEM3011-1-1) 3%

T o Hl H i BN
M3011-1-1
SEHUT
(% HEM3011-1-1)
FAF—T L — Ml - B T X 1
FAF—TL—MitET m 1.5
F AT E of 4
7 TARBRPA T B [i] 7
7 TARBRPA T Eika) | 7
FAF—7 L — MR TAR TR X 1
ST = 1
R " 3
it @R #R) " 3
Vit LREHA " 3
WG IEL T fL I ENOESN m3 0.8
Rz 7)) —h C=170kg/m3 m3 3
FE AT BRI M-30t=17cm|  nf 4
T AR T F/ESAREA RC-40t=15cm | 1f 4
g T BRI E T 22 (13)t=3cm|  ni 4
R LEE T HEf = 7Y — b m3 0.8
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M3011-1-1lBESIYL (B I A F—7 L — 1)

FAFT—7L—hk ¢ 1.500 t= 2.7 m/m

FAF—FL— MEETL

1.500 X 0.1675 ¢/n

A7 T
/4% ( 0.360 + 0.10 )=

(0. 166 X 0.0355  t/m’

SAF—7FL— FNEfLERE

Im¥4 7~ v E&E
P-10 6 K X 26.0 kg/#&
A b -t b (HEKFR)
(10 x 6 ) x 0.137
VI N R NI €. 5 A 1))
(4 x 6 ) X 0.137
&t

1m*Y 7= 0 &

167.5 - (o X 1.500 )

P T 2.00X2. 00, i

1.500

0. 251

0. 166

0. 006

156. 0

8.2

3.3

167.5

35. 545

1. 00

1.5

0.25

0.01

kg/m
167.5

ke/m?
35.5
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MRTEE T (2. 0X 2. 0) 248 - fik:

SHESLHT M ¢ 1.50
1. 7B TS 2.000 X 2.000
78 THBAEA T

2. MR R - MR
ZH7 (H-250 X 250 X 10 X 15)
2,00 X 2 X
A ([-200 X 80X 7. 5X 11)

(2.00 + 2.00) X

FERRE 4+~ R — U EE H

0. 080 t/m

2

X 0.0246 t/m

IEATHE Y

= 4. 000 4
= 7.0

7
= 0. 320
= 0.197

Wkt ast = 0.517 0.52
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+T

T+ T
2250 x 2000
=5 —820— g;ﬁﬂﬂ oIS i
2 { o] “F
(=] AN 4 ‘ (=]
= g | =
BHTIER
1
| i
S
&
8 _ 1050 _
= <]
wY)-MER 3
_ 1100 | ]
[=Th ol
1 B
i
@ 1500
LR AL
2.25 X 2.000 X (0.750 — 0.32)
w/4 X (1.500 + 0.180) 2 X
PEbRSY
< RV
/4 X 0.8272 X 0.050
+ /8 X (0.8272 + 1.0572) X
+ /4 X 1.05°2 X 0.900
+ x/4 X 1.1072 X 0.000

(1. 500

0. 300

HMEREER

i

0. 750) =

2250

= 1.935

1.663

= ()1.015

il

= 2.583

750

1750

2000

m3
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2. By

it A 5 2. 583 = 2.583
F% L)
ViR EAEA 2.583 = 2.583
3 AEEYREE L T S)HA Far s J— b
Hrra ) — |k
{2200 X 2.25 - (x/4 X 1.5072) )} X 0.30 = 0.820
4R 7 Y— |
C=170kg/m3
x/4 X 1.50°2 X (5.300 - 1.500 - 0.350) = 6. 097
~ AR —)L
x/4 X 0.827°2 X 0.000
+ x/8 X (0.8272 + 1.0572) X 0.000
+ x/4 X 1.05°2 X 3.300
+ x/4 X 1.1072 X 0.150 = (-)3.000
(=4
/4 X 0.36°2 X 0.45 = (-)0.046
3= 3.051
. BERET t= 17 cm
TR M=30
2.00 X 2.25-  m/4 X 0.8272 = 3.972
. TRERET t= 15 cm
FAEYLAMEA RC-40
2.00 X 2.256-  m/4 X 0.8272 = 3.972
EEEEIR T t= 3 cm
FHAEBRIET A2 (13)
2.00 X 2.25-  m/4 X 0.8272 = 3.972
L TR T
a7 ) — |k
0. 820 = 0.820

0.8

m3

m2

m2

m2

m3
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SEHL TGEIEM3011-1-3 BI3EM3006-1) ££3}

N B =
L # 2 Al & # HL M3011-1-3 M3006-1
B — v U EHRH $ 1500 ¢ 1800 6.15 8.05
itk (N=5) m 3.69 5. 62
BEE 1 (N=30) m 2. 46 2.43
$ 1500 ¢ 1800 (m) (6.15) (8.05)
JFEAGE 6.35 8.25
= TERBEL & AT 2 3
I m 9. 40 17. 10
=75 EFT m 0.90 0. 90
= THET & AT 1 1
r— v YW LD m 10. 31 11.27
A7 Ty 7 () t 0. 68 0. 80
WELr— 7 t 1.83 3. 26
R 7 U — MR &7 1 1
a/))=p 30-18-20 m’ 1.8 2.5
JE SR H A & T 1 1
L — v TEE = 1 1
e ¢ 1500, 1800/H 1 1 1
Ly — 7 ¢ 1500, 18001 m 4.0 5.9
R — v 7R X 1 1
U (t) (0.93) (1.11)
SEHHEK T & AT 1 1
M2 AR 61500, 1800/ R &, it T 1 1
1500 1800/
PETHRBAPH T =] 7 8
M TSR = 1 1
SMHLHT
WEa 7 ) —h C=170kg/m3 m 3 5
ity Vi 1 m’ 1 1
i R (T ) m’ 10 20
it A R (R ) m’ 1 1
i HAEIA m’ 1 1
sy m 10 20
EHEERR BN T A7 7L M%E t=15cmBL R m 6 7
AREERBUEL T AT 7N t=10emPA T i 2 3
T Wi PR M=30t=17cm|  nd 2 3
T8 AR T B AR RC-40t=15cm| mf 2 3
BT HABRE 7 222 (13)t=3cm| m 2 3
EOE U T T AT 7k m 0.1 0.2
15 IR T m 0. 001 0. 001
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i

M3011-1-31@if 51

L=y 78 (e 1500 )

(BEE) euir—y v 7 L= 2.40m
R =7 L= 2.40m
Bi&r— 7 L= 0.60m

Wi r— v 7 L= 2.00m

SIS — v 7 R AR
2. TERHEHIE - AT

HhE 1 (N=5)
HhE 1 (5AN=30)
WE+ (N=30)
WE 1+ (30<N=50)
B 1 (N=30)
Y 1= (30<N=50)
'E 1= (N<50)
TR 1 (N<50)
EAHIELT Y+ (200mm~300mmA i)
s T (A)
HoE 1 (B)

3. JEAGE

6.150 + 0. 200

4. r— 78 EFT

5. 7 — U THET

6. r—> v JRET

(HHER, SZHRE D)

7. )&M) - 1T

(AHER, SZHRE D) =

8. JE A HI B

2.40 X

2.40 X

0.60 X

4.700 X

1.000 m

m
= 5.400 5. 40
1 X 0.466t/m = 1.118t
1 X 0.466t/m = 1.118t
1 X 0.466t/m = 0.280t
= 0.932t
H = 3.448t 3.45
m
= 3.690 3.69
m
m
= - 0
m
m
= 2.460 2.46
m
m
m
m
m
m
m
B 6. 150 6.15
m
= 6.350 6.35
m
= 0.900 0.9
T
= 1 1
- 2 fiin
f&ipT
2 = 9.40 9.4
1 T
3
m
= 1.80 1.8
= 1 1 fEipT
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9. PRI r— o T EE
F 4 ¢ 1500

L —
(5.400 — 1.400)

10. g 7 — 3 > 78k

¢ 1,500

11 SEHTHEAK T

12. r—3 > 7Ok L

T X 1.500

13. 27 Z v 7 (JF)

fr— 7 1,400
Y0 /4
Y0 /4
Y0 /4

14. 8B L r—v 7

(5.400 — 1.400)

15. BB T (¢
¢ 1500 FRE, %

78 TARBAPA T

M7 AR R

+

X

¢ 1500

2.00 m

(1.500 — 0.100)

0. 466 t/m
(0.360 + 0.10) "2

(X 1.512)}

(0.360 + 0.10) "2

(X 1.512)}

(0.000 + 0.00)"2

(X 1.512)}

0.466 t/m

1500/ )

X

X

X

X

X

{0.466 t/m

1

{0.466 t/m

1

{0.466 t/m

0

4. 000

1. 000

0.932

10. 312

0. 652

0.016

0.016

1 5K

1 fA&

4.0

0.032

o
Tyl
+

NPT +~ R — VR H R

0. 684

1.832

7.0

0.68

+

1.83

B

!
g

B =
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+ T (M3011-1-3338 7 51)

+ T
}i 5
N\ BEtEE
1060 =
S =
S WwhY-HEE
[~ (=
) o
P
11p0 2
(=]
15p0 =
[ =] o
S b
1. fEH
1-1. BWREEEI T WERZ 5232 =10 2n”)
x/4 X 1.500°2 X 6.15
2. MR
2-1. 27 Y — bk (C=170kg/m3)
x/4 X 1.50072 X 3.700
€253
JEARFREE a7 -} x/4 X 1.1072 X 1.050
2/ H-IVIERR
(I 7FE)
v/ R-VARAR, ERE
()
v/ R-VARAR, ERE 7/4 X 1.05°2 X (3.700 - 1.050)
(17H) A
HP250% x/4 X 0.360°2 X 0.200 X 2

V= 16.538 - 3.334

HEREEIR

1700

1700

10.

(=)0.

().
(=)0.

@K//

868

. 538

998

295

041

5

(=)3.

334

. 204
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2-2. v+
x/4 X 1.500°2 X (1.500 - 0.350) = 2.032
(FEBR57)
/B BE x/4 X 1.05°2 X (1.500 - 0.550) = (-)0.823
2R B x/4 X ( 0.82°2 + 1.0572) X 1/2 X 0.300 = (-)0.209
)y x/4 X X 0.82°2 X 0.000 = (-)0.000
B = (9)1.032
V= 2032 - 1.032 = 1. 000 1
3. sy
JEEI+& 10.868 = 10. 868
Vit i () 10. 868 = 10. 868 10
Wit iR (5 %) 1. 000 = 1. 000 1
Vi A 1. 000 = 1. 000 1
Ay 10.868 —-( 1.000 / 0.9 = = 9. 757 10
6. EfEERR BN T t= 5 cm
T AT 7V MNiEE t=15emPL T
0.704 X 8 = 5. 630 6
7. EHEE IR 1 t= 5 cm
T AT 7))V Mgk t=10emPL T
0.704 X 1.700 2 /2 X 8 = 2.394 2
8. gz T t= 17 cm
R IR M-30
x/4 X 1.50072 = 1.767 2
9. FEIE T t= 15 cm
FALLAME RC-40
x/4 X 1.50072 = 1.767 2
10. #EEREIA T t= 3 cm
HABRIE T A 212 (13)
0.704 X 1.700 / 2/ 2 X 8 = 2.394 2
L1, BoEMR LB T
T AT 7 IV b
2.394 x 0.050 = 0. 120 0.1
10. {55y T
0.023 X 0.05 X 5.630 = 0. 001 0. 001
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M3006-1 N BT

1.7—v TR (

BEEIN) Kk —v 7

=7
i&r— 7

W% r—s v

I — 2 o T TEASEH]
2. TEBHMRAIER - BHAT

3. FEAE

A+ (N=5)
HhPE T (5<N=130)
& 1 (N=30)
WE £ (30<N=50)
BE T (N=30)
HEE 1 (30N=50)
& 1 (N<50)

Y+ (N<50)

EFHE LY 1+ (200mn~300mmA i)

e 1 ()
e 1 (B)

8. 045 +

4. r—v 75 EIF T

5. r— U JHET

6. r— U EEL

1800

0. 200

)

(HHER, SZHURE D)

7. JEAZa)) - T

(HHER, SHURE D)

8. A H e A

2. 40m

2. 00m

0. 90m

2. 00m

2.40 X
2.00 X

0.90 X

5.700 X

J& 1.000 m

B

m
= 7.300 7.30
1 X 0.555t/m = 1.332t
2 X 0.555t/m = 2.220t
1 X 0.555t/m = 0.500t
= 1.110t
i = b5.162t 5.16
m
= 5. 620 5. 62
m
m
m
m
= 2.425 2.43
m
m
m
m
m
m
m
i 8.045 8.05
m
= 8.245 8.25
m
= 0.900 0. 90
=50
= 1 1
B 3 & T
At m
3 = 17.10 17. 10
L& T
3
m
= 2.50 2.5
= 1 1 &HT
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9. g — v JFE

T ¢ 18001

Ly — T
(7.300 - 1.405)

10. R r—3 v 718k

¢ 1,800

11 SEBtgEk T

12. 7— > 7Y T

7T X 1.800

13. A7 Z v 7 (%)

=7 1.405

ieAmI) /4
Hiv /4
Y0 /4

MLy — 7

(7.300 - 1.405)

15. A TR (o

2

¢ 1800 B¥iE, ik

B TARBAPA T

X

M LA

+

X

X

/

X

/

X

/

X

¢ 18001

2.00 m

(1.500 —

0. 555 t/m
(0.360 +

(r X

(0. 000 +

(x X

(0.000 +

(r X

0.555 t/m

1800/H )

<+

0.095) X 4

0.10)"2 X {0.555 t/m

1.812)} X 1

0.00) "2 X {0.555 t/m

1.812)} X 1

0.00)"2 X {0.555 t/m

1.812)} X 0

0.016

0. 000

1 5

1

5.9

11.27

P+~ AR — VB A3

0.80
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+ T (M3006-1%2E5751)

. T B

s& 7
\ BEtEE a
1. #RHI
1-1. SR 1) T
- WERXZ T AT (0. 3n°)
8. 045
2. R
2-1. 227 Y — k (C=170kg/m3)
5. 595
($ebR47)
JEEhR AR %&b 2. 270
/= IEC AR
(I FE)
T/ R-VERIA, [EEE
(I F&)
v/ -V, [ELRE
(1 fi) )
HP250% X 0.36072 X 0.175 X
V = —

(5.595 - 2.270)

SEHEEIE

2000

VR

2000

A

7
\_/

F

= 20. 472

= 14. 238

= (-)3.748

= (-)5.118

= (-)0.018

(-)8. 884

= 5.354
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2-2. AL
x/4 X 1.800°2 X (1.500 - 0.350) = 2.926
(Fep553)
vk R x/4 X 1.40°2 X (1.500 - 0.625) = (-)1.347
v/ -V gRhBE /4 X (0.82°2 + 1.40°2) X 1/2 X 0.375 = (-)0.388
HEE )T n/4 X X 0.82°2 X 0.000 = (-)0.000
B = (9)1.735
V= 2,926 -( 1.735 / 0.9 ) = 0. 998 1
3. sy
PEEIE& 20,472 = 20. 472
oA E R () 20. 472 = 20. 472 20
WA R (1E ) 0. 998 = 0.998 1
P LREIA 0. 998 = 0.998 1
Ry 20.472 - 0.998 = 19. 474 20
6. EHEERR BN T t= 5 cm
T A7 7L MEEE t=15emPL T
0.828 X 8 = 6. 624 7
7. ElSE IR AR T t= 5 cm
T A7 7L MEEE t=10emPL T
0.828 x 2.000 / 2 / 2 X 8 = 3.312 3
8. LB T t= 17 cm
RIS M-30
x/4 X 1.800°2 = 2.545 3
9. TlEKE LT t= 15 cm
FAEYLAME RC-40
x/4 X 1.800°2 = 2.545 3
10. #HEEREIH T t= 3 cm
FAEBRET A2 (13)
0.828 x 2.000 / 2 / 2 X 8 = 3.312 3
L1, BGE LB T
T AT 7 IV bk
3.312 X 0.050 = 0.166 0.2
10. {5 ¥eL Sy T
0.023 X 0.05 X 6.624 = 0.001 0. 001
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